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1 mark sample questions
1) In the circuit shown below, the value of R, such that the power transferred to R}, is maxin|
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In the circuit shown below, the network N is described by the following Y matrix:

_[01S —0.015] o Vo
Y = [0-01 s 01§ . The voltage gain 7, 18
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)| In the circuit shown below. the current Tis equal to
|
<+
1420°V @)
4) In the following figure, C; and C; are ideal capacitors. C; has been charged to 12 V before the

ideal switch 5is closed att = 0. The current i(t) for all t is.

Sxt:ﬂ

c, =L A
Ve j[n} = G

|




p—

TCET —,,,—9

DEPARTMENT OF ELECTRONICS & TELECOMMUNICATION ENGINEERING (ESTC) /tw
(Accredited by NBA for 3 years, 3" Cycle Accreditation w.ef. 1* July 2019) -

Choice Based Credit Grading System with Holistic Student Development (CBCGS - H 2019) »
Under TCET-Autonomy Scheme - 2019
(A} Lero (C) an exponentially decaying function
(B) astep function (D) an impulse function
5) The impedance looking into nodes 1 and 2 in the given circuit is
(A) 50Q (C) 5kQ
(B) 100Q (D) 10.1kQ
6) The transfer function i ) of the circuit shown below is
lﬂ{]uF _
o
+
Vi(s) % Va(s)
100pF
o | o
0.5s +1 o s5+2
(A) ——— (©)
s+1 s+1
{B}35+ﬁ (D)5+1
s+ 2 s+2
7) In the circuit shown below, if the source voltage Vs= 100.253.13° V then the Thevenin's

equivalent voltage in volts as seen by the load resistance Ry is

(A) 1002900 (C) 800900
(B) 80000 (D) 100600

8)

For the two-port network shown below, the short—circuit admittance parameter matrix is
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9) In the circuit shown, the switch 5 is open for a long time and ig cloged at t = 0. The current i(t)
fort=0%is
a
I,
5 0
154 100 EE_ HI) r 15mH
) 100
(A) i(t) = 0.5 — 0.125e~1000t (C) i(t) = 0.5— 0.5e- 1000ty
(B) i(t) = 1.5 — 0.125e1000t8 (D) i(t) = 0.375e-1000t
10) | The current I in the circuit shown is
20mH
LU0
6.. 200°V ‘l Sin = S0F
@ =10%rad/s"
(A) -j1A (B) j1A (C) DA (D) 204
1) In the circuit shown, the power supplied by the voltage source is
W
; 10
1n 10
C-')mv
i 1A
1z A
Yo
(A) OW (C) 10W
(B) 5W (D) 100W
12) In the following circuit, the switch S is closed at t=0. The rate of change of current %(0"} is

given by
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(A) 0 (C) R+ R
L
(D) e
13) | The Thevenin's equivalent impedance Zm, between the nodes P and Q in the following circuit is
L0 1
1H l 1F
P =
e =
of
Tu
1
(A) 1 © 2+s+
1 st +s+1
@) 1443 D) F s+
14) | The RC circuit shown in the figure is
R C
°_'VW—Il ©
+ ! +
Vi R =C V,
° °
(A) a low-pass filter (B) a high-pass filter
(C) a band-pass filter /(D) a band-reject filter
15) Vi) 1

If the transfer function of the following network is V() 24sCR .
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the value of the load resistance R, is

(A) R/4

(B) R2 (C) R (D) 2R

2 mark sample questions

)

The switch p is in position P for a long time and then turn to position Q at
t=0. Find the value of dv(t)/dt at t=0+

skQ  p

! 10 k2
v ()

0.1 mH

2)

The switch is closed at t=0 while the capacitor is charged to -5 V.(i.e Vc(0) = -
5V)

2508 r=0

m’ jI
+ Fr —
<l> g 250 62 'I';(!]p""\ 0.6 I'-F

1 /500 e

O

3)

The civcnit in the figure contains a current source driving a load having an
inductor and a resistor in series, with a shunt capacitor across the load. The
ammeter is assumed to have zero resistance. The switch is closed at time

t = 0.
) Ammeter
Switch ?j Toad =
Current
10 mH

Source

‘ Shunt __|
LA C Capacitor »7]
5k

-
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Initially, when the switch is open, the capacitor is discharged and the
ammeter reads Zero ampere. Alter the switch is closed, the ammetelr reading
keeps fluctuating for some time till it settles to a final steady value. The
maximum ammeter reading that one will observe after the switch is closed
(rounded off to two decimal places) is A

4)

For the network shown, the equivalent Thevenin voltage and Thevenin
impedance as seen across terminals *ab® is

31'1
20
1 . @ NVVN—o d
A (1) 1003 |*
| ob

5)

In the given circuit, for voltage ’t"}- to be zero, the value of p should be

. (Round off to 2 decimal places).

1Q V, 20 V, 30
AN AAA—1 AN
6V 40 d} 2A <’:> BV,

6)

In the circuit, switch “8° is in the closed position for a very long time. If the
switch is opened at time t =0, then 1, (1) in amperes, for t >0 is

=0
S0 10
AN
—va—i |11}

7)

In the circuit shown below, the Thevenin voltage Vi is

N o 40

@—w. AMA—O +
1a(®) s10 2A(d) 320 Vi

{“_}-
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8)

The current I in the given network is

1202-90° v( 7

I
I:I £=(80-j35)

120£-30°V <+> L

9)

The current in the RL-circuit shown below is i(t) = 10 cos(5t — m/4) A.

The value of the inductor (rounded off to two decimal places) 15 H.

R i)
—_

_|_
200 cos(51) \:@ L

10)

Consider the civeunit shown in the figure.

()
Z
SwA Lo
AMN—
+ +
4V o >
Vo % I ko2 C‘r) 2 mA
1 ka2 -
The value of v, (rounded off fo one decimal placeyis V.

11)

In the circuit shown below, the initial charge on the capacitor is 2.5 mC, with the voltage polarity
as indicated. The switch is closed at time t = 0. The curent i(t) at a time ¢ after the switch is
closed is
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i(t)
>

10Q
100V

———— 50pF

12) | In the circuit shown, what value of R, maximizes the power delivered to R, ?
V 4Q
AV Wip—r—e
B :
R;
vi(t
i\ _)100V
Al
8
(A) 24Q B) 59 (C) 4Q D) 6Q
13) In the circuit shown, vy is 0 volts at £ = 0 sec. For t > 0, the capacitor current ic(f)

, where { is in seconds is given by
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0k o,

10V

(A) 0.50exp(— 25¢) mA (B) 0.25exp(— 251) mA
(C) 0.50exp(— 12.5¢) mA (D) 0.25exp(— 6.251) mA
14) For the circnit shown in the figure, the Thevenin voltage and resistance looking
into X — Y are
110 .
p ’
2i 10 2 A 20
o
(A)3V,20 (B) 4V, 30
(C) 4V, 20 (D) 4V,20
15) The driving point impedance of the following network is given by

0.25
52401542

. 5L
paa|

(A) L=5H,R=050,C=01F (C) L=0.1H,R=20,C=0.1F
(B) L=0.1H,R =051, C=5F (D} L=0.1H,R=20, C=5F

i(s)= . The component values are

AAAA
rry




